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IIpH3HaKkH paBeHCTBA TPEYTOJIbHHKA

A ABC = A STP,
ecliv

1) AB = ST,

2) AC = SP;

3) LA= LS

A ABC = A MNK,
ecim

1) AC = MK;

2) LA= LM,

3y LC= LK

A ABC = A DEFF,
ecu

1) AB = DE;

2) BC = EF;

3) AC= DF

PaBHoOeapenHblii TPEYroJIbHHK

AB, BC — 60KOBbI€E
CTOPOHBI;

AC — OCHOBaHME;
A ABC — paBHo-
6eapeHHbIN, €CIIU
AB= BC

[Ipu3Hak paBHOOEAPEHHOIO
TPEYroJabHHUKa
C

Eciu B A ABC
A= £ B, 10

A ABC — paBHOOe-
PEHHBIHN C
ocHoBaHueM AB

BOM aBH HH

€YIOJIbHUK

1) B B paBHOOe1peHHOM
TpPEeYroJIbHUKE YIJIbI
IIpU OCHOBAHMUH
paBHbI

BD — MenunaHa,
BbICOTA OUCCEKT-
puca

A D c

3) B paBHOGeIpeHHOM TPEYTOJIbHU-
Ke MeAHaHbl (BbICOTbI, OMCCEKT-
PHCBHI), ITpOBeIEHHbIE K 60KOBBIM
CTOpPOHAaM, PaBHBbI





